
Exeter 2

Art.No. 7012302

Pystytyskuvat























Eero
Stamp







1

5 
m

m

2

2

3



3 DOOR BIFOLD DOOR SET



Hardware

A. 6 x 140 mm Screw x 10

B. 3,5 x 40 mm Screw x 54

PZ 2

TX 15

C. Plastic push x 6

D. Upper guide roll x 1

E. Lower guide roll x 1

x 3

M5 x 50 mm Bolt x 1

x 1

H. Plastic cover x 1

I. CB rosette inside x 1

J. CB rosette outside x 1

F. Lock set

K. Cover cap x 3

L. Cover cap x 3

M. Cover cap for stay hinge x 2

N. Cover cap for stay bearing x 2

O. Cover cap x 1 RH + x 1 LH

P. Cover cap for pivot rest x 2

R. Turn handle x 1

S. Turn handle set

x 1

G. Open-end spanner SW17 x 1

PZ 2 M5 x 65 mm Bolt x 2

PZ 2 M5 x 100 mm Bolt x 2

TX 30

x 1

x 1

outside inside

Pins (x 5) are pre-installed



Parts list

x 1x 1 x 4 x 2

x 1

x 1

x 1

TOP

BOTTOM

LH RH

x 1 x 1 x 1



Door frame assembling

Step 2

Step 1

Step 3

Step 4

TOP

BOTTOM

A

TX 30

Tools not supplied!

LH

RH

A

A

A

q Lay the 4 pcs of frame parts on the floor on top of cardboard or a similar protective material to prevent damage to the parts.

A. 6 x 140 mm Screw x 10



Door frame installation and sideboard fixing

TX 15

Step 1 Step 2

Step 3 Step 4
5
0
 

  
  

  
  

 
 

 
 

5
010

1
0

130                                                                                                      

Perform same steps at exterior side

B

B
B

Step 5

B

 
 

90vvvv

B

130

View from inside

Tools not supplied!

B. 3,5 x 40 mm Screw x 36



Door sash no. 1 installation

View from inside

M

Step 1

Step 2 Step 3

PUSH UP

q adjustment of the Turn-Only hinge

See the page 13

q adjustment at the rebate corner hinge

q adjusting the pivot rest



Door sash no. 2 installation

View from outside

Step 1

C

Step 2

PUSH UP

q adjusting the fold and slide hinge

See the page 13

q see additional document "Installation, operating and maintenance instructions"



Door sash no. 2 installation continued

View from inside

Step 3

E

Step 4

E

q adjusting the bogie and guide roll

See the page 13

G

remove the cap

q see additional document "Installation, operating and maintenance instructions"

q remove the cap

q install after adjustment



Door sash no. 3 installation

View from inside

Step 1

Step 2

M

Step 3

PUSH UP

q engaging and disengaging the stay

See the page 13

q adjustment at the rebate corner hinge

q adjusting the pivot rest

q adjusting the stay



Door handles and lock set installation

View from inside

Step 2

Step 1

S

outside

inside

OKOK

inside

outside

J
F

M5 x 50 mm

View from outside

I

M5 x 65 mm

outside

OK OK

PZ 2

90vvvv

90vvvv

180vvvv

Step 3

R

Tools not supplied!

H



Cover caps installation

View from inside

NN

O (LH)

P

O (RH)

P

Step 1 Step 2



Hardware adjustment

Adjustment at the rebate
corner-hinge

Adjustable
turn-brake

Adjustment of the Turn-Only hinge

TX 15 SW 4

Adjusting the pivot rest Adjusting the pivot rest

Setting ± 2 mm

TX 15

Setting ±1 mm

TX 15

Setting ± 2 mm

SW 4

Setting ± 1 mm

TX 15

Setting + 3,5 mm / -3 mm

TX 15

Setting ± 2 mm

TX 15

engage

disengage

Engaging and disengaging the stay

Adjusting the stay

Setting + 3,5 mm / -3 mm

TX 15

Setting ±1 mm

TX 15

Vertical adjustment on bogie / pivot rest

Loosening and adjusting

- Hold the set bolt using an allen key
SW 4

- Loosen and hold the locknut using an
open-end spanner size 17

- Adjust vertically with Allen key SW 4

Locking
- Hold the set bolt using an Allen key
SW 4

- Firmly tighten locknut with open end
spanner size 17

+

-
+3,5

-1
Vertical adjustment
+ 3,5 mm / -1 mm

SW 4

-

+

Vertival adjustment on bogie and guide roll

+3,5

-1
Vertical adjustment
+ 3,5 mm / -1 mm

SW 4

Loosening and adjusting

- Hold the set bolt using an allen key
SW 4

- Loosen and hold the locknut using
an open-end spanner size 17

- Adjust vertically with Allen key SW 4

Locking
- Hold the set bolt using an Allen key
SW 4

- Firmly tighten locknut with open end
spanner size 17

Loosen
screws for
vertical
adjustment

+2

-2

-5 +1,5

+

-

-

+

Loosen screws for
horizontal adjustmentSW 4

SW 4

Fixing / removing the sash hinge cover

For attachment / removal of sash-hinge covers, the
setscrews on the back must be tightened / loosened.
Open sashes to access screws, if the F&S unit is
already installed.

See additional document
"Installation, operating and maintenance instructions"

Tools not supplied!



Cover caps installation

L

K

q fixing / removing the sash-hinge cover

See the page 13

View from outside

install cover caps after fine adjustment

Step 1

Step 2



Operation of bifold doors

View from inside (inward opening)

q First close doors 1 and 2, by turning the inside handle 90 degrees downwards so the doors then lock.

q Close door 3 by turning handle 90 degrees downwards, for locking turn the key clockwise.

    Turn the handle 180 degrees to tilt-open door 3.

q Use door 3 independetly as a daily access door.



Attach the Fold&Slide sash to be 

mounted to the sash that is already 

installed and push the hinges into one 

another.

Insert the pins into the three sash 

hinges from above or from below, 

depending on the installation position 

of the sash hinges (see illustration on 

right). 

The pins must noticeably engage.

Push the lower pivot-rest of the 

Fold&Slide sash to be installed onto the 

bogie (1).

Tighten the locknut of the bogie 

with the open-end spanner (size 17) 

to prevent the Fold&Slide sash from 

slipping out (2).

As a prerequisite for installing the Fold&Slide sashes, the Fold&Slide sash 

with frame hinges on the frame side must already be installed and correctly adjusted (for 

more information see the corresponding profi le-specifi c installation drawing for Turn-Only or 

Tilt&Turn hardware).

How to install a Fold&slide sash

NOTE

1.

2.

Installing the pin in the sash hinge

Long side to the right Long side to the left

EN

Installing the Fold&Slide sashes



Push the upper pivot-rest of the 

Fold&Slide sash to be installed onto the 

guide roll (1).

Tighten the locknut on the guide roll 

with the open-end spanner (size 17) 

to prevent the Fold&Slide sash from 

slipping out (2).

Depending on the size of the sashes, the 

upper pivot-rest can be inserted more 

easily with the sashes open.
NOTE

1.

2.

NOTE

After installing each individual Fold&Slide sash, check the frame hinges of the fi rst Fold&Slide 

sash and readjust if necessary.NOTE

The procedure for adjusting the gap is explained in chapter "Adjusting the bogie and guide roll" 

on page  .

After each individual Fold&Slide sash is installed, the gap between the threshold and frame 

rebate must be adjusted



Undo the locknut on the guide roll 

of the Slide&Fold sash to be adjusted 

using the open-end spanner (size 17).

Adjust the height of the guide roll by 

turning the set screw with a hexagon 

spanner (size 4) so the guide roll 

cannot scrape against the guide track 

(adjustment range –1 mm to +3.5 mm).

Adjust the gasket pressure by sliding 

the pivot-rest.

Then tighten the locknut again with the 

open-end spanner (size 17) (tightening 

torque: 15 Nm).

Move the Fold&Slide sash that is 

already installed carefully into the 

closed position.

Adjust the gap between the threshold 

and frame rebate by turning the set 

screw with a hexagon spanner (size 4) 

so it corresponds to the dimension 

specified in the installation drawing for 

the specific profile (the set screw can 

be adjusted from –1 mm to +3.5 mm).

Adjust the gasket pressure by sliding 

the pivot-rest.

Then tighten the locknut again with the 

open-end spanner (size 17) (tightening 

torque: 15 Nm).

The gap between the threshold and frame rebate and the gasket pressure of a Fold&Slide sash can be 

adjusted at the bogie and guide roll. Please proceed as follows:

EN

Undo the locknut of the bogie on the 

Fold&Slide sash to be adjusted using 

the open-end spanner (size 17)

egglis
Typewritten text
Adjusting the Fold&Slide hardware

egglis
Typewritten text
Adjusting the bogie and guide roll



The vertical position of the Fold&Slide sashes relative to one another and the size of the shadow gap 

between the sashes can be adjusted at the hinges.

Hinge
Adjustment 
range

Neutral position ±0 on

base plate scale distance between screws

20/50 -5 to +1.5 0 5.5 mm 

20/35* -5 to +1.5 0 5.5 mm

* Adjusting plate turned through 180°

Hinge in neutral position

Distance between screws 
5,5 mm

ATTENTION
Always make the adjustments at the set screws 1  and 2  one by one! 

If you undo all screws at once, this could damage the sash hinge!

Aligning the Fold&Slide sash vertically by turning the set screw 1  

To align the Fold&Slide sashes vertically, proceed as follows:

Slightly loosen the two screws 1a  so that the hinge and sash 1 can move relative to one another.

Adjust the vertical position of the sliding panel by turning the set screw 1 .

Tighten the two screws 1a  again.

You can adjust the vertical position of the Fold&Slide sashes relative to one another and also the 

shadow gap between the sashes when installed by turning the set screws at the hinge (see fi gure 

"Adjustment of the hinge" on page  ):

Adjusting the sash hinges



Adjusting the shadow gap via the set screw 2

To adjust the shadow gap between the Fold&Slide sashes, proceed as follows:

Slightly loosen the four screws 2a  so that the hinge and sash 2 can move relative to one another.

Adjust the shadow gap by turning the set screw 2 .

Tighten the two screws 2a  again.

 Adjustment of the hinge

Long side of the hinge on the right

2a

1a

+1,5
–5

Sash

Sash

Set screw

Rotational 
direction of 
set screw

Direction of 
movement 

of sash 

Max.
adjustment 
range

RH

(clockwise)
upwards +2

Left 

(counter-
clockwise)

downward –2

1

2

Set screw

Rotational 
direction of 
set screw

Direction of 
movement 

of sash 2

Max.
adjustment 
range

right 

(clockwise)

to the right

(shadow gap 
increases)

+1,5

Left 

(counter-
clockwise)

to the left

(shadow gap 
decreases)

–5

2

Long side of hinge on left

Set screw

Rotational 
direction of 
set screw

Direction of 
movement 

of sash 

Max.
adjustment 
range

RH

(clockwise)
downward –2

Left 

(counter-
clockwise)

upwards +2

1

2

Set screw

Rotational 
direction of 
set screw

Direction of 
movement 

of sash 

Max.
adjustment 
range

right 

(clockwise)

to the left

(shadow gap 
increases)

+1,5

Left 

(counter-
clockwise)

to the right

(shadow gap 
decreases)

–5

2

2

2a

1a

+1,5
–5

SashSash



Checking the setting of the hinges

Each time you adjust the hinges, check afterwards that they are uniformly aligned!

Please proceed as follows:

NOTE

Test dimension

Make sure that the test dimension shown 

in the figure below is identical at all three 

hinges of the sash.

If this is not the case, adjust the height of the 

Fold&Slide sashes relative to one another 

again at the set screw 1  until all three test 

dimensions are exactly the same.

Make sure, using a straight edge or a long 

spirit level, that the lateral edges of the 

long sides of all three hinges on the sash 

are flush.

If one of the hinges does not line up with the 

other two, turn the adjusting screw 2  until 

it does.

1
7
.5

 ±
0
.1

!
=

!
=

!
=

!
= 0

!
= 0

!
= 0



Adjusting the gasket pressure at the 

upper locking point on the locking side 

(at the sash).

You can increase or reduce the gasket pressure using a Torx wrench T15, as shown below.

Adjusting the gasket pressure at other 

locking points on the underside of the 

sash.

Adjusting the gasket pressure at the 

side of the sash at the top.

Installing the cover of the pivot-rest

Plug the long cover onto the pivot-rest 

(1.).

Fasten the long cover by screwing in the 

screw provided (2.) from the side.

Push the small cover at the bottom into 

the pivot-rest until it snaps into place 

(3.).

Installing the pivot-rest cover

1.

2.

3.

T15

T15

T15

It is advisable to adjust the Fold&Slide system before mounting the cover.
NOTE Also see chapter "Adjusting the Fold&Slide hardware" on page  .

Adjusting the gasket pressure

Installing the cover



Installing the hinge cover

Open the Fold&Slide system so the 

sashes are at roughly 90° to one 

another.

This allows the set screws of the hinges 

to be accessed from the side opposite 

to the hinges.

Push the large cover from the hinge side 

completely onto the hinge.

To fasten the cover to the hinge, screw 

in the two set screws (see illustration) 

completely by turning them clockwise 

with a hexagon spanner.

To fasten the cover to the hinge, screw 

in the set screw (see illustration) 

completely by turning it clockwise with 

a hexagon spanner.

Size 2

Size 2

Push the small cover completely onto 

the hinge from the hinge side.


	Põranda juhend 28x137 otsatapiga-JUHEND
	Sheets and Views
	JUHEND


	UA+ tender
	Bi-fold door assemling instructions 70 mm wall
	Installation, operating and maintenance instructions

